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QUESTION 1

Which of the following are advantages of using Novell OES? (Choose 2.)
A. Use of familiar NetWare services on Linux.

B. Interoperability with Windows servers and clients.

C. Use of familiar NetWare services on Windows servers.

D. The ability to run Linux daemons on the NetWare platform.

E. The ability to run Windows programs on the Linux platform.

Correct Answer: AB

QUESTION 2

When installing the Novell Client on a Windows workstation, which login authenticator should you select if the Client will
be used to log into an OES NetWare server?

A. NDS

B. Bindery

C. eDirectory

D. Compatibility Mode

Correct Answer: A

QUESTION 3

An authenticated user has requested an eDirectory service. As a part of the verification process, the Novell Client sends
a request for access to the service. What happens next?

A. The service verifies the Client\\'s credentials.

B. The user receives access to the requested service.

C. The service sends a confirmation message to the Client.

D. The Client provides proof of its credentials to the service.

E. The service sends the Client a random number unique to the request.

Correct Answer: E
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QUESTION 4

You\\'re designing your company\\'s eDirectory tree. You\\'ve named the tree WIDGETCORP-TREE. Below the tree root,
you want to create six Organizational Units that represent each American state and Canadian province where your
company has an office. Beneath those Organization Units, you want to create additional Organizational Units that
represent each location\\'s functional groups. Each office has its own network administrator. To ease administration, you
want to create an Admin User object within each location\\'s Organizational Unit. Will this design work?

A. Yes, all eDirectory rules have been observed.

B. No, hyphens aren\\'t allowed in eDirectory tree names.

C. No, User objects can\\'t reside within Organization Units.

D. No, Organizational Units can\\'t reside directly below the tree root.

E. No, you can\\'t use Organizational Units to represent geographic locations.

F. No, you can\\'t create Organizational Units within other Organizational Units.

G. No, you can\\'t mix Organizational Units that represent geographic locations with Organization Units that represent
functional groups.

Correct Answer: D

QUESTION 5

Which is the proper order for completing tasks when configuring NSS storage on an OES NetWare server?
A. Create storage pools first, then create disk partitions, and then create NSS volumes.

B. Create disk partitions first, then create storage pools, and then create NSS volumes.

C. Create NSS volumes first, then create storage pools, and then create disk partitions.

D. Create disk partitions first, then create NSS volumes, and then create storage pools.

E. Create storage pools first, then create NSS volumes, and then create disk partitions.

F. Create NSS volumes first, then create disk partitions, and then create storage pools.

Correct Answer: B
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